o(d dxy) (cm)
o(d dz) (cm)

»o-
O
>’
]
L
T

1072

R

bl
. .i|'
R

- o -
L B :
- I 11111 1 111l ] 11 1] 1 I 1411 1] 1 1111 111 ] 11 I 11 1 111111 1 1111
_9 L.O71T 1 ] : : pa 7 :
= : {1 || 1T |- 3+ :
] 0 1 s : *H £
o H: +11% E :
: ] | z i
il | SEMEAE: :
1 gbdld +--|-1-1= Jk 2
1: -+ 114 1. :
- Fl =N e +
1 O + 4 1 b
T E=- Tl IF NREE
1 = L ¥ * _

0o 1 2 3

DOMSTep3 CRF :

B MsteBd default mline)
D

D

Mstep3 ckfPixelLess
Mstep3_TT _default-relf2
Mstep3 TT defaultNEWTOLDSAMPLE-relf2

o(d @) (rad)

-'.ili"u‘

g iy
L IRIRE

LRIV
.“.l .‘.Tl,l v

("o

T
&
*

SENREE
3 B S 0 N A R A A A 1 S S O
: 3 :
: -+
5 o
i <+
T + |
111 L 11 11 1 1111 ] 14111 I 11 1 1 I
£ :
] B
o ) P I £ : ¥
0 = -+
5 : 0
-t = --1a : .
o : 4
! < = : 4
E - 5
i

v
" =
i h

1 2 3 0
TP @ (PCA to beamline) TP @ (PCA to beamline)




	Contents
	Page 1


